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2.1.1 IMPOOO
e JJIUIUDODDODODOOODDOOOODDOO (imperative language) 0 0 O O
e OO OODODOOOOONO

e J000OwhileDODOUODODUODUODODODODODODO

2.1.2 IMP OOO

DO00oO00ooo
e UDDOD: Num<{...,-3,-2,-1,0,1,2,3,4,...}
e 00DOODD: T {true, false}

O0o0000o0dnD: Loce

000000: Aexp

000000 : Bexp
e J00OO0OOO: Com

LocO0O0OO0O0OO0O(DODOOOOCOODOOO)000U0DOOOOOODOOOOOOOOOOOO
oooobooooooobooobo0oobooobbooobboUoboboUbDOAexp,Bexp, Com
gbooooooao
0000 BNFUOOOOOOGOOUO: OO0 =000000000O0O0O0OO0OOObOO0OOO:

O:a00 ;0000 (Aexp000)0000a+a 00000000

a, 0y DOODOO0DOOODODO0D—DOO0OO0O0OOOOOODOD—CO0OOIMPOODOOOOOOOOOO
0000000000000 (metavariable)y DDOO0O0DO0DIMPOOO0OOOOOOOOO



n,mUO Num OOO0OO00O00ODOOO

o {0 TOOOODOODOOODOODO

XY O LocOUODOODOODODODO

o AexpU0000000O00OO0O0OO

b0 BexpOOUOODOOODOOOOD
ec ComOI0O0DOOOOOOODDO

00000000000 ()ooooouoooooog

00 Aexp,Bexp,Com 0 BNF(Backus-Naur form) J000O:

a == n|X|a+ai|a)—a1|agxa
b = true]false|a0:a1|a0§a1|ﬂb]b0/\b1\b0\/bl
¢ == skip| X :=a]cp;c1 | if b then ¢ else ¢; | while b do ¢

O00000000: O0000000000000 (abstract syntax) 000000000000
00000000 (000000000000 0)0D0000ooooooo0g (concrete syntax)O

Syntactic equality =: eg,e; D0 D000 0O00O0O0O0OOOOODODOODOOO0O0O0O0O0OOO eg=e1
goooogo
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D000000: 00000 (states) D 0 €Y =Loc — Num 00000(X) 00000000 X
0ooO00O (0o)oo
00000000 (evaluation relation):

(a,0) = n
0000 «0 o 0O00 nO0000000000O0O(Aexp, X, Num 00O OQOQ0OO0OO0OO0OOOOOO

ooo)

0000000000000 0000 (0oU00O00o0OoD)0D00OO000OoO0O0UDOO0OUCOO0ODO

O0(rule)DOOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOOOOOO

O000000000000000 (derivation) 0000000000000 OO0ODOOOOOOO
oooooooooooon:

e OO

(RULE-NAME)



0000 (000000000 O0)0D00000ORULE-NAMEDOOOOOOODO A; 00000
O (premise)DB 000000 (conclusion) DO DOO0O0D0 0000000000 OOO (axiom)
0000000000000 0DO0o0oODO00oO00nDA; 0 BOODODODODODODOoOoOoooo
0000o00O00000oO0000oO0O00U0OoOO00D0O(ooDoOoOooDooooooo
O((@O0)booooooooooon)

0000000000000 0000D000000D00O00000D0O0O0O (rule instance) O
goo

gooo0o0o0 pooooOooOooooooobooboobooooobooboobobobOobOoDg:

e 00O Dy,..., 0, 0000000OOCO0O Ay,...,A,000000DOCODODOOOOOODOO

Oo0o0oooooo Ay,...,A,0000 BOOOOOO

Dy D,
B

goobooooobob pO0O0O0O0O0ooooboOobOobbOobOobooobDoboboo
goboobbooboobobooboonoobo

goboooboboooooboobooboooboooooooboboouobobooobobOoDbo

gbooaoo

oboobooooooooon

- (EA-Nuwm)
(n,0) = n

- (EA-Loc)
(X,0) = o(X)

<CL(],0'> — No <CL1,0‘> — Ny (’I’L U 1o O n1 oo ) (EA—SUM)
(ag +ai,o) —n

{ag, o) — ng (a1,0) = (n0 nol m ODO) (EA-SUB)
<(I(] —ar, 0> —n

{(ag, o) — ng (a1,0) — nq (n0 mo0 n ODO) (EA-MuL)

(ap X a1,0) = n

(0o000oOoO00OOO00OOOO0O000OOO00O0C0OO0OO0O0O0OODOOO0OOOOOO
obooboooboobooboobooboooboob

uboooodboboboboooo

ap ~ a1 = (VYn € Num.Vo € X.(ap,0) — n <= (a1,0) — n)
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0000000000 (h,e)—t000000000 b0 ¢ 000 ¢t0000000000O(0
0 Bexp, ¥, TOOOOOOOO0OO0ODOOO0OOOO)

ggoon
(EB-TRUE)
(true, o) — true
(EB-FALSE)
(false, o) — false
agp, o) — Nyg ay, o) — ny nold np 0o
(EB-EQ)
-RQ
(ap = ay1,0) — true
(CL(),O')—)’I%O <a1,0>—>n1 (n()D 7”L1|:|[|D|:|[||:|) (EB NE )
-INBQ
(ap = a1, 0) — false
(ag,a>—>n0 <a1,0>—>n1 (TLQD niy DDDDD) (EBL )
-LEQ
(ap < ay,o) — true
ag,0) —n ai,o) —n noU np OO0
(ag,o0) = mng  ({a1,0) 1 (no 1 ) (EB-NLEQ)
(ap < ay,0) — false
(b,0) — true
(EB-Norl)
(—b,0) — false
(b,o) — false
A (EB-Not12)
(—b,0) — true
(by,0) — to (b1,0) — t1
to=true&t;=true000 t=true 00000 ¢t = false
(EB-AND)
-AND
<b0 A by, U> —
(bo,0) = 1o (b1,0) =t
(to =trueort; =true 000 t=true 00000 t = false)
(EB-ORr)

<b0\/b1,0>—>t
0o00o0oooooooooooooo

bo~ by & (Vt € TNo € .(by,0) =t <= (b1,0) — 1)
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0000000 (execution) 0 O :
(c,o) =0

00000 ¢0 o 000000000000 0ODO0O0ODO0OD /00000000000 (Com, X,%

O0000000oooooooooon)

XO0nOOOOOOOOOOOODOOOOOO o ODODOOODODOOOODOOODODOO on/X] O

gbooooooooboooob

n ity =X
(oln/XD(Y) :{ ") iy 2 x

oood

(skip,o) — o

(a,0) = n
(X :==a,0) — o[n/X]

(co,0) — " (¢1,0"y — o

(co;c1,0) — o’

(b,0) — true (co,0) — o’

(if b then ¢ else ¢1,0) — o’

(b,o) — false (c1,0) — o’

(if b then ¢ else ¢1,0) — o’

(b,0) — false

(while b do ¢,0) — o

(b,0) — true (e,o) — o (while b do ¢,0") — o’

(while b do ¢,0) — o’

voooooooooooooobooo

o~ E (Yo,0 € 2.{cg,0) — 0’ = (c1,0) = o)
25 O0O0OOOOCOO

00 2.1 w=whilebdoc (00 b€ Bexp,ce Com) 000000000

w ~ if b then c;w else skip

googoo

(EC-Ski1p)

(EC-AsaN)

(EC-SEQ)

(EC-IF1)

(EC-Ir2)

(EC-WHILEL)

(EC-WHILE2)



